Unit 5 
Full Description of Task #2
[bookmark: _GoBack]Because the footprint of the suspect is so large, it is not on your line of best fit.  You must find the slope of the line so that you can come closer to determining the height of the suspect.  
•	Choose three consecutive concrete points on the line of best fit from task 1.
•	Draw a slope triangle from the first point to the second point and determine the slope of the line.
•	Draw a slope triangle from the first point to the third point and determine the slope of the line.
•	Record observations about the slope using the two different triangles.
•	Find the unit rate and in a paragraph explain what it means in the context of the situation
